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QUESTION 1

If implementing a virtual Whitewater appliance v210 or higher to support a greater then 2TB volume for cache, which
version of ESXi and storage type should be used? 

A. ESXi 4.x and VMDK volumes. 

B. ESXi 4.x and spanned VMDK volumes. 

C. ESXi 5.x and VMDK volumes. 

D. ESXi 5.x and RAW volumes. 

E. ESXi 5.x and spanned VMDK volumes. 

Correct Answer: D 

 

QUESTION 2

If performing a disaster recovery (DR) test, what commands and in what order do they need to be run? 

Select and Place: 

Correct Answer: 
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QUESTION 3

What is the port range for block reads on an optimized Granite Edge appliance to core connection(s)? 

A. 7952-7954 

B. 7950-7954 

C. 7954-7970 

D. 8000-8080 

Correct Answer: A 

 

QUESTION 4

Which mechanisms can cause Whitewater appliance replication to pause or effect the optimization service? (Select 4) 

A. Cloud provider outage. 

B. Backup application crash. 

C. WAN outage. 

D. Whitewater bandwidth settings. 

E. Incorrect cloud provider credentials. 

Correct Answer: ACDE 
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QUESTION 5

If a backup application server fails to send data to a Whitewater CIFS share, what are the 6 applicable troubleshooting
techniques from the list below we can use to identify the cause of the failure? (Match the troubleshooting techniques to
the action provided spaces) 

Select and Place: 

Select and Place: 

Correct Answer: 
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